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JEAV I A ouT IN GROSS HDCP NET [[E¥\A SN 4 ouT IN GROSS HDCP NET
BB =K & 50 1 97 | 757 | 683 T T —% 17 17 O 77 T 793
EE  oH =B 10 13 83 | 143 | 687 121 BE Bk 15 50 05 | 156 | 79.4
%3] B EL 39 10 79 87 | 703 13 A A= 18 18 9% | 165 | 795
i AAH % 16 1 90 | 196 | 704 14 Rx Bk 51 56 107 | 275 | 795
5] Tx BA 39 39 78 68 | 712 %45 %E B— 1 15 39 92 | 798
6| HH BE I 10 5 08 | 712 16 2B fl— 18 v, 95 | 150 | 798
x| AL B 10 37 77 57 | 713 17| E £ 1 16 38 81 | 79.9
8] IRE FIEK 13 13 8 | 141 | 719 18 Em E- g 15 36 60 | 800
o *E B 18 16 o4 | 220 | 720 19 A =R 19 18 97 | 17.0 | 800
S 19 13 92 | 198 | 722 %50 TE B= 50 13 93 | 127 | 803
11 W ahkk 1 10 32 04 | 726 SN 19 15 01 | 133 | 80.7
12 5L B— 16 13 89 | 164 | 726 07| EEEH MR- 18 5 100 | 193 | 80.7
13 i B 15 y, 92 | 190 | 730 b3 mGE B 16 16 9 | 112 | 808
14] o HAM | 49 10 80 | 156 | 734 54 iAE BBA 5 16 98 | 166 | 814
%15 3510 &= y, 13 90 | 166 | 734 %05 hE T 50 19 99 | 176 | 814
16] I i 10 15 85 | 110 | 740 6] AR & 18 19 97 | 154 | 816
17 $kM ik 16 16 92 | 175 | 745 57 mh Ex 10 5 92 | 701 | 819
18] &k fE— 16 B o7 | 225 | 745 b8 HEIE —% | 48 44 92 | 101 | 819
19 = @BF 16 16 00 | 173 | 747 b9 BA Bx v, 13 90 70 | 821
x00 ki = 36 39 75 02 | 7438 %60 LT T8 18 15 93 | 709 | 821
| BE RoA 13 v, 90 | 152 | 748 611 il 1= 1 18 92 96 | 824
2 M B B 19 700 | 250 | 750 601 N EER 18 50 08 | 156 | 824
23 @x BX 1 1 88 | 127 | 753 63 HH ik 55 54 109 | 265 | 825
24 Bm T= 1 19 93 | 171 | 759 ERIT = 53 50 103 | 19.8 | 832
%25]  BME 3L 17 50 97 | 210 | 760 T 16 54 100 | 162 | 838
%6 WIF RE 5 18 700 | 240 | 76.0 B =X 5 57 104 | 175 | 865
27 #EO @a) 53 53 106 | 29.8 | 76.2 XE RE 57 58 115 | 269 | 881
28] FiH IE— 15 19 of | 173 | 767 IO #= 57 50 107 | 138 | 932
20 BB =& 16 1 90 | 132 | 768 X8 =— 5 65 117 | 233 | 937
%30 @iz B— 18 16 of | 168 | 772 FHiE B—
I E— 54 1 105 1 275 | 775 =) —ER
2 I E— 19 16 95 | 173 | 777 L2/ fX
Ll e
? H_ ] . = reys
%35 B3m [k B 56 107 | 288 | 780 BG] XKI¥ H | 36 39 75
36| M 2% 15 16 01 195 T 785
3 BE Ba 1 19 03 | 143 | 787
B = 1 50 9f | 150 | 79.0
30| AR %= | 49 53 107 | 279 | 791
w40 Al B— 13 15 38 88 | 792
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Ay B4 OUT IN GROSS | HDCP NET
411 /I %E‘(M) 45 50 95 18.0 11.0
42| R¥ BHF 46 44 90 12.7 11.3
43| EBEH %E 52 44 96 18.4 17.6
44| FH S=TF 46 45 91 13.1 11.9
w45 k& Kif 44 47 91 12.8 18.2
46| 1BEF & 50 52 102 23.8 8.2
4] HH & 49 51 100 21.4 18.6
48] kH =Ef 44 50 94 15.1 78.9
49| X% BB 49 51 100 20.7 79.3
wol| /i FIiF 48 62 110 30.3 19.7
ol| IWT HBS 48 o1 99 19.2 79.8
2| HE BA 54 53 107 21.0 80.0
o3| HE2z0 A 46 49 95 14.7 80.3
4| HE Bk 58 56 114 33.2 80.8
MAGS ZIKiJJ' 2 o1 51 102 19.9 82.1
A Rk 49 49 98 15.6 82.4
A AF 49 59 104 21.0 83.0
RO 2 52 52 104 20.9 83.1
A LR 47 54 101 17.5 83.5
®mA = 49 52 101 15.7 85.3

HE Bh

2%5H 15

R =F

BG #H %% | 40 | 38 | 78

gL IEES OuUT IN GROSS | HDCP NET
=1L 43 45 88 24.0 64.0

Z fp EB 40 41 81 16.5 64.5
w3 fBH ¥E 40 38 18 10.6 6/7.4
wi| BY ERAX 42 o1 93 24.5 68.5
wH R EX 51 50 101 32.0 69.0
6| = ﬁé— 45 44 89 19.8 69.2
wl| &l EZ 49 49 98 28.8 69.2
8 Tl &Y 43 37 80 10.1 69.9

9] EX HE 45 50 95 25.0 70.0
»10 I*Jik i 4] 43 90 19.9 70.1
11 = 43 42 85 14.4 70.6
12 J:J T X 43 43 86 15.4 70.6
13] EH =R 42 40 82 11.1 70.9
14| XJIIA _$=—ER 41 45 86 15.1 70.9
w15 EH BHX 42 44 86 15.0 71.0
16| #AH i 45 44 89 18.0 71.0
1/ #E B#x 42 43 85 13.8 11.2
18] ¥ 3Lz 46 43 89 17.1 71.3
19 BEA Bx 40 42 82 9.9 121
¥ 20 jcii £ 43 44 817 14.4 12.6
21|  P9E #kiE 44 45 89 16.4 12.6
22| A& B= 48 50 98 25.1 12.9
23] HE E—EH 48 45 93 19.9 13.1
24 #HH =8F o1 o1 102 28.8 13.2
» 25 KEg & 52 53 105 31.2 13.8
260 EX IEF 46 49 95 21.1 13.9
2]  EX Hild 99 00 105 30.8 14.2
28| BRI WF 99 51 106 31.3 14.7
29 Ex FE 49 40 89 14.2 74.8
30 BEH % 46 44 90 15.1 74.9
31 Elllﬁ AL 417 44 91 15.9 15.1
32 SHEZE 50 49 99 23.9 715.1
33 ll\iJi EE: 51 42 93 17.8 15.2
34| HT AE 44 46 90 14.4 15.6
w35 RHE AR 45 45 90 14.2 75.8
36 2K # 44 52 96 19.9 6.1
3/ WF =&k 50 48 98 21.8 16.2
38| mH #Ep 51 51 102 25.1 16.3
39| TE ik 49 46 95 18.6 16.4
*40| =% A 50 42 92 15.3 16.7
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